Lesson 30 Mastery Test

Student Name Date Total Correct

1. | What is the opposite of a poor worker? A good worker. + -

2. | Listen: He said that he saw a cow that had 12 legs. +
Is that possible or impossible? Impossible.

3. | Listen: A car is going 10 miles an hour. Then the car
speeds up to 15 miles an hour. +
Did the speed of the car increase? Yes.
Say the sentence about the speed of the car. The speed of the car increased.

4. | I'll say a question that is wrong. It is missing a word.
You'll say the question with the missing word. +
Listen: Who he talking to?
Say the question for the past. Who was he talking to?

5. | Listen: Do veins carry blood to the heart or from
the heart? To the heart. + -
Say the sentence about veins. Veins carry blood to the heart.

6. | I'll say sentences two times, then you’ll say them.
Listen: The mayor and the city workers compromised.
Listen again: The mayor and the city workers +
compromised.
Say the sentence. The mayor and the city workers

compromised.

7. | Listen: The mother drove the car, and her baby rode in a
car seat.
Listen again: The mother drove the car, and her baby + -
rode in a car seat. The mother drove the car, and
Say the past-time sentence. her baby rode in a car seat.

8. | Listen: People avoided Edward because he complained
too much. +
Say the sentence. People avoided Edward because

he complained too much.
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